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3

4

4 4 4

3

4

 ν = 0.2 ν = 0.4 

β0= 1- 2ν2/(1-ν), 0.9 0.467 

Е0, МПа 15 8 

mν=β0/Е0  1/ МПа 0.06 0.0583 

Аω – [ 5 ]. 0.94 1.58 

hе = Аωb, м 0.94·24.6=23.12 1.58·24.6=38.87 

S= Р0 hе mν м 
0.886·0.197·23.12·0.06

==0.24 м 

0.886·0.197·38.87·0.0667= 

=0.45 м 

0

 ν = 0.2 ν = 0.4 

β0= 1- 2ν2/(1-ν), 0.167 0.133 

Е0, МПа 15 8 

mν=β0/Е0 1/МПа 0.06 0.0584 

Аω – [ 5 ]. 2.26 3.82 

hе = Аωb, м 2.26·2.6=5.88 3.82·2.6=9.93 

S= Р0 hе mν м 
0.886·0.032·5.88·0.06= 

=0.01 м 

0.886·0.032·9.93·0.0667=

=0.019 м 

0
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